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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2017

Subject Name : Data Communication and Networks

Subject Code : 2TE04CNN1 Branch: Diploma (CE)

Semester : 4 Date :18/04/2017 Time : 10:30 To 01:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.
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Attempt the following questions:

What is the full form of FTP?

A) Foreign Transfer Protocol B) File Transfer Protocol

C) Frequent Transport Protocol D) File Transfer Protocol

Full form of UDP is

A) Universal Data Protocol B) Unique Design Protocol
C) User Datagram Protocol D) User Define Protocol
Which of the following is known as complete network topology?

A) Star topology  B) Bus topology C) Mesh Topology D) Ring Topology
There are ___ layers in OSI Model.

A) 2 B)5 C)7 D)9

Router works on layer of OSI model.

A) Physical B) Data link C) Transport D) Network
IPv6 address is made of __ bits.

A) 32 B) 64 C) 128 D) 16

Which of the following network can cover maximum geographical area?
A) LAN B) MAN C) WAN D) None of these
Which protocol is associated with e-mails?

A) FTP B) SMTP C)HTTP D) OTP

A fiber optic cable is an example of

A) Guided Media B) Unguided Media  C) Both D) None
Full form of NIC is .

A) Network Interface Card B) New Internet Connection

C) Network Intermediate Connection D) Net Interconnect Card

How many connections are needed to join 5 systems in Ring topology?
A) 5 B)10 C) 15 D)6

TCP is an acronym for

A) Transmission Control Protocol B) Transport Control Protocol
C) Transfer Communication Protocol D) Twisted Control Protocol
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m) Which of the following device is used in Star topology?
A) Hub  B)Router C)Gateway D) All of these
n) How many links will be needed to connect 4 computers in Mesh topology?
A4 B)6C)8 D)5
Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions (14)
(@)  Explain OSI Reference Model with Diagram. 07
(b)  What is Topology? Explain Bus and Star Topology. 07
Q-3 Attempt all questions (14)
(@)  Explain types of networks. 07
(b)  What is Guided media? Explain any one guided media in detail. 07
Q-4 Attempt all questions (14)
(@)  Write a short note on TCP/IP model. 07
(b)  Explain Fiber Optic Cable with advantages and disadvantages. 07
Q-5 Attempt all questions (14)
(@)  Explain network devices: Router and Switch 07
(b)  Explain IPv4 and IPv6 in brief. 07
Q-6 Attempt all questions (14)
(@)  Explain Network classification based on IP address. 07
(b)  Explain Co-axial cable with figure. 07
Q-7 Attempt all questions (14)
(@)  Explain Internet and Intranet in detail. 07
(b)  Write a short note on File server and Proxy server. 07
Q-8 Attempt all questions (14)
(@)  Write a short note on Access point 04
(b)  Write a short note on Infrared 05
(c)  Write a short note on Radio Wave 05
Q-1 Attempt the following questions: (14)
) FTP of Y3 oll 9 7
A) Foreign Transfer Protocol B) File Transfer Protocol
C) Frequent Transport Protocol D) File Transfer Protocol
b)  UDP o] Y3 ot Y D?
A) Universal Data Protocol B) Unique Design Protocol
C) User Datagram Protocol D) User Define Protocol

) {lAouniel 58 2AWAY Yol Aeas AUAY 3 o B2
A) Star topology  B) Bus topology C) Mesh Topology D) Ring Topology

Page2 || 4

\/\*m

»

X 2 6‘,%‘
> [ ’Q —
o g.’ <

==

e



d)

f)

9)

h)

)

K)

OSI I3 Hl Al 9.

A) 2 B) 5 C)7 D)9

AG2R 0S| HI3A oll  AAR UR 51 82 B,

A) Physical B) Data link C) Transport D) Network
IPve A3U _ (ded of Sl ®.

A) 32 B) 64 C) 128 D) 16

5] oleals Alell dulR A 1 3cdd aa ® 2

A) LAN B) MAN C) WAN D) None of these
sl Ylelsld 8-0d A& dsoudd 8?2

A) FTP B) SMTP C) HTTP D) OTP

SLSOR V(RS 0l W of GElRW ©

A) Guided Media B) Unguided Media ~ C) ¢lal D) As uel o3
NIC of Y3 olld 9 ©?

A) Network Interface Card B) New Internet Connection
C) Network Intermediate Connection D) Net Interconnect Card

Rot WA &ll 5 slrgea Slsal HI2 d2cll sas2let ofl %3 Ud?
A) 5 B)10 C) 15 D)6
TCP Ae@

A) Transmission Control Protocol B) Transport Control Protocol
C) Transfer Communication Protocol D) Twisted Control Protocol

RIR AWA Hi 52l [Saus ol GuloL A2 B?

A) Hub  B) Router C)Gateway D) All of these

ol AWA &l ¥ 512 o lsall M2 32cl [@s ol 3 ud?
A)4 B)6 C)8 D)5

Attempt any four questions from Q-2 to Q-8

Q-2

Q-4

(@)
(b)

(@)
(b)

(@)

Attempt all questions (14)
OSI %o HISA SLALUH AU AHsLAl. 07
AWAY AeA 9?2 ¢id UA VIR AWAY UM 07
Attempt all questions (14)
Azald oll YslA UHAl 07
ousds Hll3a Aed j? 81 uel As ousds {3l uusAl. 07
Attempt all questions (14)
TCP/IP {3 UR &5 olltl ¢tull. 07
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Q-5

Q-6

Q-7

Q-8

(b)

()
(b)

(@)
(b)

(@)
(b)

()
(b)
(©)

$LESR RS S01EL Aol $LAEL ol NRGLAEIRA U UM A

Attempt all questions
Aecls (Scusy XAl AG2R wa RAU

IPv4 3 IPV6 &8 HI AU

Attempt all questions
IP AJU oll LR A (g0l UM

sl-ugllnct 3old sl A uresaAl
Attempt all questions
So2ae Ul Bozra2 ([Argd ML AHHLAL.

$LSA AR Wal Ysl UdR U ollu dAul

Attempt all questions

ASAAY WBe2 UR &5l alll AVl
Bo5l2S UR &Sl ol dull
Al Ao @AW gs Hi uHmaAl
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